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Paper : 5.6

( Development Policy and the Indian Economy |}

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1 x7=7
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(a) Write the full form of NSSO.
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- ewer the following questions :

q) Tertiary sector in India employs two

different kinds of people. Who are
they?
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) Name two beverage crops of India.
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(c/) Distinguish between medium, sm

and micro-enterprises.
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}dj What 1s sex ratio of population? What

was the sex ratio of India according to
2011 Census? 1+1=
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/b{ What is meant :

population

explosion? Discuss the impact of
India’s population growth on food '-

~ supply and unemployment. 1+4=5
>l 9] |

¢/ Give the full form of GST. Explain the =
Possible impact of GST on the small™
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DilliﬂgUiSh bctwecn abmt)lulc a_nd
relative poverty. Discuss various
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fe)} What 1s Land Reforms? Give a brief
outhne of any four important
problems for proper implementation of

Land Reform measures in India |+4=5

4. Answer any three of the following

questions 10%x3=30
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| Explain the trend and composition of
India’s national income during post-
ee. Point out  the  factors
responsible for frequent variations of

India’s national income. 6+4=10
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(b) Explain the causes of inequalities in

-

income in India. How can fiscal policy
be helpful in reducing inequality of
income? [s there any role of recently
implemented demonetization of & 500
and ¥ 1,000 currency in reducing
Inequalities in income ir

In India? Give
reasons for your answer.
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of agriculture in the

the role

economic
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i period of India.

(e) Mention the objectives of public
distribution system of India. Explain
the main defects of public distribution

system of India. Suggest some

remedial measures. 3+4+3=10
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Jﬂ Discuss briefly five main problems of
Indian agriculture. Explain three long-
run and two short-run measures to

solve these problems. 5+5=10
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